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I’m looking for Cantonese food.
I’d like to eat dinner someplace nearby.
Tell me about Chez Pannisse.
Can you give me a listing of the kinds of food that are available?
I’m looking for a good place to eat breakfast.
| definitely do not want to have cheap Chinese food.

When is Caffe Venezia open during the day?
| don’t wanna walk more than ten minutes.
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eat on 0.16 eat Thai 0.03
eat some 0.06 eat breakfast 0.03
eat lunch 0.06 eatin 0.02
eat dinner 0.05 eat Chinese 0.02
eat at 0.04 eat Mexican 0.02
eata 0.04 eat tomorrow 0.01
eat Indian 0.04 eat dessert 0.007
eat today 0.03 eat British 0.001
V Jgu

D58 18 el Syle dsbeal gauds 5l s ccil oy Jaao slael 5l as gl len

<S> | 0.25 | lwant | 0.32 | want to 0.65 |toeat 0.26 | British food 0.60

<S> I'd 0.06 | | would | 0.29 [ wanta 0.05 | tohave |0.14] British restaurant | 0.15

<S>Tell |[0.04 |Idon’t |0.08 |wantsome |0.04 |tospend |0.09]|British cuisine 0.01

<s>I'm |0.02 |l have 0.04 | want Thai 0.01 | to be 0.02 | British lunch 0.01
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p(l want to eat British food) =
p(l|<S>) p(want|l) p(to|want) p(eat|to) p(Britis|eat) p(food|British)
=0.25*%0.32*0.65*%0.26*0.002*0.60 = 0.00016
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